Narrow runner, version 1

A narrow runner can be made by joining two edgings at the
point of the hearts (see diagram below) and filling the spaces
by wheel motifs.

Wheel motif

Leave a long tail to use on the splitring. You are to join two
rings to each of the surrounding hearts. The bare thread
space between the rings should not be all tight.

R:2-2-2-2-2-2-2-2. 7 picots

SR: 4/4. Use the tail left before starting the centre ring
for the second half of the SR.

a

Bts

R: 4+4. Join to a p on a heart (see diagram)

Bts

R: 4+4. Join to the next p on the centre ring

Repeat from a six more times. Finish by

Bts
R: 4+4. Join to a p on a heart (see diagram)

Tie the thread ends together close to one of the rings. Hide the ends.
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